Pre HL Unit 1 Exit Slip 2 for More practice



Name: ___________________ Period: ____
No Calculator!! Box your final answer.  
1.  Given
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a)  Rewrite  in 
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b)  Identify the vertex and  the axis of symmetry. 
c)  Rewrite  in 
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 and identify the x-intercepts.
2.  Show that the lines with equations 
[image: image4.wmf]5

yxk

=-+

 are tangents to the parabola 
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if and only if 
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5.  An open square based container is made by cutting 4 cm square pieces out of a piece of tinplate.  If the volume of the container is 120 
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, find the size of the original piece of tinplate. 
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